Practice
Solving Equations: Solving Equations Containing Radicals

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again,

#1) Solve: Vx+9=4

#2) Solve: 49—x+5=38

#3) Solve: 3v2x+5-15=0



#4) Solve: J2x+9= Ji+3

#5) Solve: V2x+5= 34x—-2

#6) Solve: Vm—-2+m=4

#7) Solve:  J5r—-9 =2r



Answers:

#1) x=7

#2) x=0

#3) x=10

#4) x=0, x=36

#5) x=2, x=38

#6) m=4

#7) =9
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